
Thema: Codieren mittels Matrizen
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werden. Wie????M

13

27

27

15

27

27

18

27

27

13

27

27

1

27

27

12

27

27

T Sender C M T Sender

0

269

148

0

273

150

0

279

153

0

269

148

0

245

136

0

267

147



C 1

7

2

1

5

1

1

9

2

2

 T Empfaenger C 1 C M T Empfaenger

13

27

27

15

27

27

18

27

27

13

27

27

1

27

27

12

27

27



zu c)
M

14

231

115

13

104

46

3

147

78

9

222

129

C 1 M
22

27

13

15

14

1

12

15

12

12

18

27

 Textantwort: Voll Normal
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